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Consider the following substances :
t. Acridine dyes

2. Hydroxylamine

3. WNitreus acid _

Which of the above js/are mutagens ?
(a} 1and?2 only

(b) 2only

(¢} 1and3 only

(dy 1,2and3

In their experiment to show the semi-
congervative replication of DNA, which one
of the following isotopes was used by
Meselson and Stahl 7

(&) 'H
(k) MO
{C) IE:H
{dy *p

CAAT Box is located approximately at
around which one of the following positions
from transcription initiation site in a gene ?

{a) — 25 bases
(b} — 50 bascs
(c) - 75 bases
(d} — 100 bases

Which one of the following s eps (st » first
one for ¢reating the transger'« ani aals 7

(1) Gene shears
(b} Gene split

(€) Gene congtr,
(d) Gene he necic

A chrom. son. > 1 which centromere divides
ihe ci. . mu some into two unequal arms is
kne 'n o5 :

(a) Tewcentric chromosorme

(b} Acrocentric chromosome

ic) Submetacentric chromosome

(d) Metacentric chromaosome

[t

Genetic drift is also called -
(a) Erwin Chargaff effect
(b} Alfred Hershey effect
{¢) Sewall Wright effect
(dy Oswald Avery effect

Non-additive genetic factors make a larger
contribution to the phenotypes v ne. the
heritability of the character is -

fa) Low

(b} Mediem
(c} High

(d} Very high

In the cont %1 .t auimal breeding, the
combinaton - th' maternal and common
enviror nent~] effects and the dominant
effr- = doants | by C? can be estimated by -
{(a, da °sib correlation

b} T.il-sib correlation

(c, Halfsibcomrelation+ Full sib correlation
(d) Full sib correlation — Half sib cotrelation

Match List-T with List-1I and sclect the
correct answer using the code given below
the lists :

fise-f List-ff
{fine of (Expected individual
Crossing) heterpsis)
A.  Straight bred 1. :l_—
B. Back cross 2. 1
C. Three-breed cross 3. %
D Rotational cross© 4, 0
(2 Sire hreads)
Code
A B C D
fay 3 2 t 4
b 3 1 2 4
)y 4 2 1 3
(4 1 2 3 _
(Contd.)
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10.

11

12.

13.

Qul crossing combined with selection is a

highly useful technique for which of the
follewing ?

(a) DBetween breed improvement for highly
hereditary trail

by Within bread improvement for highly
hereditary trait

{¢) Retween breed improvement for lowly
hereditary trai

{d} Within breed improvement for lowly
hereditary trait

Artificial insemination maximizes which of
tbe following ?

{a)  Selection and breeding sysiems
(b) Selection and production

{c} Selection and reproduction

(d) Breeding systems and production

Consider the following :

1. Homozygosity

2. Heterozygosity

3. Fitness

When an animal populatior is ubju_".d to
cross breeding, which of the ¢ yove isfare
reduced ?

{a}) | only

(h) 2and3o v

(¢) land_ ~n -

Wy 1,7 ani3

Th. s, cies. for which selective
o= shg should be the best strategy for
=1, hancing their performance traits in our
conditions 18 :

(a) Buffalc
(b} Sheep
(c) Rabbit
(d) Poultry

14,

13,

Match List-1 with List-1I and select the
corTect answer using the code given below
the lists :

List-1 Lise-ff
{Breed) {Major Ristocampati-
bility complex)
A Cattle 1. O A
B. Horses 2. ‘a-b
C. Poultry 3. “La
g80La
Code :
A B C
(a) - 4
My 4 3 2
2y o1 4
v 4 1 2

Match List-1 with List-1I and select the
cotTect answer using the code given below
the lists :

List-i List-1f
(Cross Breed) (Litiliny)
A. Brangus 1. Carpet wool
B. Awikalin 2. Apparel wool
C. Frieswal 3. Beef
4. Milk
Code :
A B C
(&) 3 2 4
(tky 4 2 3
(c)y 3 1 4
(dy 4 1 3

(Contd.)
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16.

17.

18.

The addition of which one of the
following enzymes to barley based diets,

" improves the growth rate and feed efficiency

of broilers ?
(a) Xylanasc
{(b) Phytase
(c) P-glucanase
(d) Cellulase

The rate of enzyme action is influenced
by :

1. Substrate concentration

2. Enzyme concentration

3. Acidity

4.  Temperature

Which of the above are correct 7
{a) 1 and 2 only

{b) 2and 3 only

{(c) 1,3 and4 only

{($) 1,2,3and4

Consider the following siatemerts

1. If Vitamin A is avalla... ~ver and
above the reguiremr .rs, it is stored in
the animal body .n  ubstanlial
amaounts,

2. Vitamin E .-, ~ stored in the animal
body ©1 Jai_* '\mounts for any length
of 1. .= . nd hence a regular dietary
up ~h is required.

¥ .+h ~f the staterncnts given above is/are

T

fa) 1 only

{6y 2 only

(¢ Boh 1 and 2

(d) Neither 1 nor 2

19.

20.

21

The feeds are classified into concentrates
and roughapes based on :

{a} Acid detergent fibre content
(b) Neutral detergent fibre content
(¢} Crude fibre gontent

{d) Encrgy contcnt

Match List-] with List-II an- sele.+ the
correct answer using the cod' giv.  below
the lists

List-f _ist-{f
(A nclyvtival (oonfentis)
Jraction)
A, ND - i. Cell coments and

peeling

B. A D »olubles 2. Cellulose, lignin

and silica

T 4 I solubles 3. Hermu cellulose

and cell wall
nitrogen

D ADF 4. Cell wall
components

Code :

A 8 C D

fa) 4 3 1 2

by 2 1 3 4

(e 4 1 3 2

(d 2 3 1 4

Drying a known weight of food to a constant
weight at 100°C is not satisfactory for
determining the moisture content of which
one of the following materials ?

(a} Groundnut cake
(k) Maize silage
(¢) Lucemne hay
{d)} Wheat straw

{(Contd.}
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22.

23.

24,

With high concentrate diets the normal
function of the rumen is disrupted by the
rapid accumulation of fermentation acids
and the
mucopolysaccharides during the cell lysis,
which results in increased viscosity of the
tumen fluid and the formation of stable
foam. What is the most likely condition 7

release of bacterial

{a} Rumen stasis
{h} Acidosis

(¢} Frothy bloat
{) Feedlot bloat

To obtain ¢orrected value of siarch
equivalent (SE} of a chaffed dry roughage
(straw/hay), the crude fibre percent is
multiplied by which one of the following
gorrection factors for deduction from t'w
calculated SE value 7 '

(ay 029

(by 0-30

(¢} 049

d} 059

I cattle, sy. 'pu..~ - like abnormal appetite
and che\ .~ of wood, bones, rags and
othe v 'gn materials indicate the
de e ey of :

{ay Magnesium

(b) Sodiun

(c) Calcium

(dy Phosphorus

[

25.

26,

Match T.ist-1 with List-IT and select the

correct answer using the code given below
the lists :

Ligt-f List-IT
(Tvpe of Wool) (Spinning count)

A. Fine wool 1. 505 — 625
B. Medium wool 2. 64s — 80s
C. Long wool 3. <715
D. Carpet wool 4, 5 — 05
Code :

A B C u
fay 2 1 4 3
by 3 1 2
¢y * 7 2
{dy 2 i 3

Wit ~sference to milking of buffaloes,
<.~ sider the following :

1. Washing of the milking barns
imrmediately before milking

2. Washing of the milking barns
immediately after milking

3. Washing of hind quarters and thighs
before milking

4. Washing of hind quarters and thighs
after milking

5. Wiping of udder with cloth treated with
strong lugols iodine (10%) before
milking

Which of the above are correct steps that

need to be followed ?

{a) 1,3,4and>5 only

(k) 1,2,3,4and35

(cy 2,3,4and5 only

(d) 2and 3 only

{Contd.)
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27.

28.

29.

30.

31.

Which one of the following groups of

disinfectants would be ideal for disinfeeting
dairy utensils ?

(&) Organic chlorides

(b) Inorganic chlorides
{c) lodophores

{d) Potassium dichromate

Among the following what is the most
economic livesiock on the basis of
lurnover 7

(a) Murrah buffalo

(b} Sahiwal cow

(c} Exotic breeds of pigs

{d} Indigenous breeds of pips

Considering the law of diminishing returns,
what would be the optimum level of feeding
grain mixture for buffalo heifers ?

(a) 0-4%
by 1-4%
© 2-8%
(d) 38%

Iodophor teal dips have becp us.d
extensively and marketed in a v rie | ot
fermulations ranging from :

{a) 001 to 0-05% iodine
(hy 01010 1-00% iodir
{c} 1-00to 1-30% iodi e
(d) 150to 2-00% ijodine

Consider the foi 7. % 2 apimals :

1. Cow
2. She -,
3. Lt
4 fare

' wh.och of the above can the ovaries
be . rectly examined by rectal palpation
only ?

{a) I only
{b) 2and3
{c) Jonly
{d) 1and4

32,

33.

34,

2. The

Consider the following statements :

1. Photoperiedicity has no beating on
both sperm cell formation and
steroidogenesis in males of species
with a seasonal reproductive pattem.

testes function in both
spermatogenesis and secretion of
steroid hormones.

Which of the statements piv zn hove (s/are
correct 7

{a) 1only

(b} Zonly

{c) PBothland.

(d) Neiik- -1 nor 2

Cans" 23 e filowing statements :

].  Indiz 1 meat cooking practices allow
lo..er risk of meat-bome diseases.

indian meat products contain relatively
higher levels of chemical contaminants
because of higher per capita use of
chemicals in agniculture and animal
husbandry practices.

Which of the statements given above isfare
correct 7

(@} | only

{(b) 2 only

{c) Bothland2
{(d} Neither 1 nor 2

Consider the following :
].  Suffolk

2.  Merno

3. Dorset

Which of the above isfare the exotic fine
wiool breeds available in India ?

(a) 1 onky

(b) 1and 3 only
{c} 2only

(dy 1,2and 3

{Contd.)
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35,

36.

37,

38.

39.

Casein, the major milk protein exists as
{a} Calcium Cascinate

{b) Colloidal suspension

(¢} Calcium Phosphate Complex

{d} Soluble form

In cattle and swine, the first part of lactation
is usually accompanied by a period of sexual
inactivity called :

(2) Lactation estrus
{b) Lactation diestrus
(c) Sexual estrus

(d) Sexual diestrus

Amongst Membrane Separation processes
NF {Nano-filtration} is generally used for :

{a} Dehydration of whey
(b} Demineralization of whey
{c) Defatting of whey

{d} Removal of bacteria

In dairy cattle, the freemartin cc \di
causes mostly the sterility. F. zem w.n
condition shows :

{a) Normal fallopian tu es

(b) Adhesion of fo’lopian ..ues
(¢} Rudimentar, %l wian tubes
(d) Absenc. 0. % 'opian tubes

The eff~ie. ¢y [ pasteurization process is
judeea by 1. test namely :

1 T adity test

(b) oterility test

{c} Pasteurization index

{d) Alkaline-phosphatase test

40.

42.

Match List-I with Uist-lI and selcct the
correct answer using the code given below
the lists :

Ligt-1 List-AF

{Animal) (Estrus)
A, Mare 1. 20—42 hrs.
B. Sow 2. 1T—sauvs
C. Lwe 3. '—1. days
D Doe 1. "0~ 80 hrs.
Code

A B C D
{a) 4 ' 2 3
{(by 4 3
(e} ¥V 1 4
@ 3 1 2 4

In ..nich one among the following meats is
Jhiamine content hiphest ?

(a) Beef

{b) Pork

{c)] Mutton

(d} Chevon

Which mictroerganisms are used in the
manmafacture of Yoghurt ?

(a) Lactobacillus  bulgaricus and
Streprococcus factis
(b) Lactobacillus bulgaricus and

Streplacoccus thermophilius

{e) Lacrobaciflus lactis and Streprococcus

thermophillus
(d} Streptococcus  cremoris  and
Streplococcus lactis
{Contd.)
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39,

W g B, 3 R Y e A
27
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46.

Stunning of animals with CO, and air is
done in :

(a) Cattle
{(b) Buffalo
fc) Shesp
(d) Pig

Congider the following statements regarding
Babesia equi infection in horses :

1. “Maltese cross” 15 formed in red blood
cells,

2. Pathogcnesis is less severe as
compared to Bahesia caballi.

3.  The sporozoites fonm bodies similar to
Koch blue bodies in lyvmphocytes.

Which of the statcments given above are
correct 7

(a)
(b)
(c) 2and?3 only
{dy 1,2and3

1 and 2 anly
1 and 3 only

Which of the fellowing a..:
combinations i1s lik .y to produce
antagonistic effectinan ~.alt )dy ?

{a) Sulfonamide . nd Ervihromycin

{b) Sulfonamic = .~ Tetracycline

~igTobial

{c) Cefola ime. :d Ciprofloxacin
{d) hli-a. henicel and Ciprofloxacin

Y v~k one of the following pairs 1s corrcetly
v ched ?

{(a) Babesia nofas : Tick
{b)  Anaplasima marginale . Tick
{c) Hemonchus contortus  Earthworm
{d) Fasciela hepatica . Snail

47.

49,

50.

Match List-I with List-II and select the
correct answer using the code given below
the lists ;

Lise-T List {1
{Disease) (Pathalogical
lesions)
A Glanders 1. Mesenteric
lymphadenitis
B. [LEquine 2. Fistaww s
Tuberculosis Vo Sf
C. Eguine 3. . hsceses in
Brucetlosis "y shnode
[}, Sirangles 4, 1.ly pus
Code
A B C ™
&y 4 2 3
) 4 ~ 3
£) 3 31 2 4
oL 2 | 4

"

7 1als wenitis is observed in animals suffering
ti_.n the following diseases except :

(a) Rabies

(k) Strangles

(c) Cunine distemper

(d) Foot and Mouth disease

A disease characterized by straw colourad

. transudate in pericardial sac with pale friable

liver in the flock of 3 to 5 week old broiler
is indicative of .

(a) Para myxo virus infection

(b) Avian adeno virus infection

{¢) Influcnza vims infectien

{d) Herpes virus infection

Ketosis can be prevented by which one
of the following combinations of feed
additives ?

{a} Dicalcium phosphate and calcium
propionate

Sodium propionate and propylene glycol
Sodium bicarbonate and propylens glyeol

{b)
(c)

(d)

Dicalcium phosphate and niacin

{Contd.)




43,

44,

45.

46.

B gl @ CO, ST e g wEn #
FegT (w2 faom wmr § 7

(a) Ty

(o) ¥

(c) ¥s

(d) ™

et ¥ @y 9o oean $ oared H

ety s99T7 W B=Er @ik

1. o &g SiEet ¥ Awed vt 8
W B |

2. wAfGEr Famrg o g ® WA w
TefiT BT B 1

3. mReherse afiEwnpEl J S =] g
oy forg R €

IR HdAT 0O SY W E 7

(a) 130 28T

by 13T 33w

(¢} 24N 339w

(dy 1,233

- 47, A g0 ghfa A A gl

48,

Prevforfem ¥ 2 1 & igehd) gk 7

] TR W R g Seae T T S T
B 7

(a) TTREATIREE ST R

(b) FERATEE 3 TTRIRAA

(¢) TErEEA 3.7 O iR

(&) TAFHE AE X R

el fen © @ #19 W T T WE gAlaE
B .

(a, T9f&Tr T Gl
(by TSt FRAT forerit
(¢) RarFT Ferew e
(dy Hieiar Bi2ewr g

49,

50.

IR R Mg w1 1 wEm w A I G
- T
?;n rﬁﬂﬁﬁﬁaﬁ;
A, rzd 1. AT
FHIFEE
B, s aufds 2. Twiad] &g
C. wwg gaaRe 3 wEHE wt A
W $T
D, €W M 4 AT Y
I
A B C D
@ 4 1 2 O
by 4 7 3
{cy 3 ! 2 4
dy . I 1 4

e ey I el W ¥En awn R
ﬁﬂ'ﬁimﬁ?ﬂﬁﬁﬁﬁﬁw

ia) I

(b) e

(c) FATEA BEFR

(d) GEHFT T

39 5T9E F AT F I A U
fravgoim kg & @ gEgEwon wE A
TR GTCETE TR AT O R WA
w1 HEE 8 7

(a) SetrerdIfamTyy oo

(b) ui® TEERETE wwH

(c) FTERIUAA Fuy Hawm

() ﬁﬁﬁﬁﬁmw

freafefg § & =i & T ABR g &
TRFT T FITHS W o g B 7

(a) SrEhivas vtk dT o ST
b) MRy ARz MR DR e
(c) TEET agFEz T TR e
(d) sEHTm wehe 3 P

(Contd.)




51

32,

33.

Match List-I with List-Il1 and select ithe
correct answer using the code piven below
the lists ;

List-I Lise-IT
Type of Ketosis) (Characteristic)
A. Primary 1. Poor quality feed-
Ketosis stuffs having defi-
ciency of propio-
nate and protein
B. Secondary 2, Excessive amount
Ketosis of butyrate in silage
C. Starvation 3. Cow in pood con-
Ketosis dition fed good
quality ration
D. Alimentary 4. [hsease causing
Ketosis reduction of food
intake
Code : .
A B C D
{(a) 2 4 3 I
by 2 3 4 1
c} 3 4 1 2
{(d 3 1 4 2

A mare with a history of recent foa' ng s
ptesented in a veterinary cl nic wi h
symptoms of sweating, stiffnc._ - -ait and
anuria. The intravenous - ... ‘nis -ation of
calcium provided immet 'a*. s ‘mptomatic
relief. What would be 1. = .nost likely
diseasge 7

{a) Azoturia

(b) Eclamp: a

(c) Stran w.

(d) Lotan

The vita.ain which is presthetic group of
Co-c..2yme Als:

(a) Niacin

(b)Y Pantothenic acid
(¢} Riboflavin

{d) Pyridoxing

34,

35.

M

57.

A cow suddenly developed bloat and
dyspnoea immediately following ingestion

- of sorghum fodder in a dry spell. The

condition further exacerbated following
water intake. What is the most likely cause
of poisoning 7

(a} Potassium nitrate

(b) Potassium nitrite

{c) Hydrocyanic acid

(d) Potassium cyanic :

Which ene of the : sllow ng drugs is the drug
of choice for the . “.oent of Carbaryl, a
carbamats ine ctic. Je poisoning in a dog 7

{(a) Tl=ae ~ar ol
(k) “alei m borogluconate
e’ D-penicillamine

{.} Atropine sulphate

Which one of the following pairs is correctly
matched ?

(@) Endosulphan : Excilation of chlonide

chanqels

(b) Deltamethrin : Excitation of Potassium
channels

{c) Malathion . Blockade of acetyl
cholinesterase

: Blockade of choline
acetyl transferase

(d) Carbaryl

Interaction between which of the
following cells is essential for better
Immune response ?

{a) Macrophage, neutrophil and T cells
(b) Mast cell, nentrophil and T cells
{c) Basophil, T cell and B cell

{d} Macrophage, T cell and B cell

{Contd.}
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Consider the following : a2

1. Opisthorchis felineus
2. Heterophyes heterophyes
3. Grathostoma spinigerum

Which of the above isfare fish-borne
zoohoses 7

(a) 1.2and3
(b} 1and?2 only
(¢) 2and 3 only
{d) 3cenly

In “Cyslic echinococcosis” man serves as ;
(a} Paratenic host

(b} Inlermediate host

ic) Definitive host

(d) Reservoir host

Consider the following :
Aflatoxins
Hydrocyanie acid

Botulinum toxin

Bk -

Oxalate

What is the correct sequenc  of th:
relative potencies of the above wo..ins/
toxicants in terms of th . leraal dose in
decreasing order ?

(a) 1-3-2-4
(b) 1-2-3-4 ”
) 3-1-2-4
d) 2-14-.

Wh. i thc most common source of
oo dopsis buski infection in man ?

(a} Fish

(b) Cwclops

(c) Water chestnut

(d}

Swine

63

With refercnce 1o Clostridinm botulinum,
consider the following statements -

1.  Clostridium Botfulinum toxin is heat
labile.

2. Thetoxinis produced under anaerobic
conditions.

3. Thetoxin causes {atal motor = ralysis.
Infant botulism is caused o, inges ion
of bactenal spores.

Which of the statemen s giv n abave are

correct 7

{a) 1 and?2 only
(h) 2and? _-ly
c) 1,?2a'doly
(d) | 2,3 wnd4

b m -tacceptable mode of cuthanasia in
ho. " sis:

i) Chloral hydrate, gunshot and
¢lectrocution
{b) Barbiturates in conjunction with

general anaesthetics
'l-’.ZD2 and CO mixture
[ntravenous administration of

Phenobarbital sodium and chloral
hydrate

(<)
(d}

. Which one of the following drugs is

commonly used for treating nervous horses
before a race or show event is done to allow
them to settle down sufficiently to make a
concentrated effort 7

()
(b)
()
(d)

Acepromazine
Atropine
Aracholine

Pilocarpine

{Contd.)
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66.

67.

63

Consider the following :
1. Detomidine

2.  Xylazine

3. Medeiomidine

What is the correct order in which the
sedative and analgesic activities of above
drugs increase 7

(a) 1-3-2

{b) 1.23

(c) 3-1-2

(d)y 2-1-3

Consider the following :
1. lestosterone

2. Stanozoiol

3. Boidenone

What is the comrect sequence of the above
drugs in decreasing order of their anabolic
activity in race horses ?

(a) 1-3-2
() 1-2-3
) 3-1-2
d) 2-3-1

Which one of the following taus s is
responsible for the death o f ¢ 2. 1n
suxamcthonium overdosag= ?

{a} Hepalotoxicity
(b) Respiratory denressio..

(¢} Tachyarrhyt'm),

(d) Convuls? = 5 izu. 8

An adult . -w started passing red urine
4 weel. oy pauturition with the symptoms
of dry s «d finw faeces, pale mucus membrane,
fem v re of 40°C and tuchycardia. What is
the ~ st likely condition ?

(a) Haematuria due 10 Babesiosis

(b) Haemoglobinurea due to lepiospirosis

(c} Non-infectious haemoglobinurea

{d) Bracken fern poisoning

69.

70.

71,

72.

73.

Which of the following is a viral discase of
poultry ?

(2)
(b}
(<)
(d)

Putlorum disease
Marble spleen disease
Flip over discasc
Arizona infection

Administration of monensip [ creases

growth rate in animals by :
(a)
(b)
(¢}
(d)

Modulating anabelic p. ‘tern
Stimulating grow i ho. nowe
Immuno-stim*"~n, “ctir a

Enhancing ¢ ‘gesti ility and nitrogen
utilization in a. .als

Whichon -0 th follewing adjuvants is not
a ma.opha, - .cimulant ?

(2% . lum pium hydroxide

(b
(¢ Muramyl dipeptide

“ucans

‘d) Lipopolysaccharide

Consider the following :
.  Pethidine
2. Morphme
3.  Etorphine

What is the correct sequence of the relative
potencies of the above drugs in increasing
grder ?

(a) 1-3-2
{by 1-2-3
(c) 3-1-2
{dy 2-1-3

Cholera-like enteric disease in chickens and
other birds is produced by

{a}
(b)
(c)
{d)

Vibrio haemolvticus
Vibrio parahaemolyticus
Vibrig metschnikovii
Vibrio anguillarum

(Contd.}
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75.

76.

7.

Which one of the following viruses is a bio
sulely level-4 pathogen 7

(2} Ebola virus

(b} Rinderpesi virus

{c) Foot and Mowh Disease virus
{d) Newecastle diseasc virus

The bird suffers from dyspnoea and
asphyxia. There is accumulation of mucus
in trachea. It tosses and shakes its head,
coughs, extends its neck and shows gasping.
These clinical signs are characteristic of
which one of the following parasitic
infcstations?

(a) Syngartus frachea
(b} Cyathosoma bronchialis
(c} Mammomanogamus nasicdn

(d) Mammomonogamus laryngeus

Lactation tetany in high yiglding dairy cows
is a well recopnised production diseas ..
Which of the following factors server ax =
predisposing cause for the occurrence « “the
same 7

{a} High ammonia coment ' 1ep

(b} Increcased manganesc a. . =creased
cobalt concentra’.on o di it

{c) Feeding hiph « .ersy diet which
interferes v 'th mangancsc absorption

{d) None o. ‘¢ above is a justified
pred s =g cause o the syndrome

Which o fthe fellowing (race minerals
is -eq." ed for growth of chicks and
uo tenance of xanthine oxidase content of
toisues 7

(a) Selenium

{b} Zinc

{c) Mbolybdenum
{d) Copper

78.

75.

80.

Bl.

Typhilitis, circular and depressed vellow to
yellowish green necrotic areas in liver are
pathognomonic lesions of which onc of the
following diseases in poultry ?

{a) Canker disease

it} Black head disesse
(¢} Coccidiosis

(d) Tritichomoniasis

Which vne of the follc ving diseases is
nof an occupationa! Yise se of abattoir
workcrs 7

{a} Brucellosi.
(bt} Erysepalo s
{¢) Hydatidosts
fd) C feer

V hich: neof the following pairs is correctly
Ma ~he L ?

Drug Class
4} Detomidine Phenothiazine
derivative
{b) Propriopromazine Bronchodilator
{c) Furosernide Diuretic
{d) Salbutamoi a,-adrengceplor
agonist

Match List-1 with List-1I and select the
cottect answer using the code given below
the lists :

List-f List-1I
{Immaobilizing Agent) {Antidote)
A. FEtorphine 1. Naloxone
B. Fentanyl 2. Yohimbine
C. Ketamine 3. Diprenorphine
1. Xylazine 4. Dopram
Code :

A B C D
fay 3 1 2 4
by 3 2 1 4
ey 4 1 2 3
(d) 4 2 1 3

(Contd.)
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Which one of the following is the carliest
strain used for the Rabies vaccination ?

(a) Julie strain
(b) Flury strain
(c} Joseph strain
{d} SAD strain

Best quality Mozzarella cheese is made
from :

(a) Cow milk

(b} Buffalo milk

(¢} OGoat milk

{d) Sheep milk

Homogenization of milk by a two stage
machine results in :

(@) Increased clumping of fal and hence
increased viscosity

(b} Increased clumping of fat and hence
increased stability

{(¢) Decreased fat clumping and redu-d
viscosity

(d)

Decreased tat ¢lumping ard .e7ac .’
stability

The milk protein that 1 arti .ina 23 in the
blosynthesis of lactose is

(2)
(b)
(c)
(d}

Betz-lactoglob lin
Kappa-case.
Alpha-y ctan. min

Non- s 'n Nitrogen

W .~k one of the following constitutes
e hase milk solids used for making
shriknand ?

{(a} Khoa

(b} Chakka

{c) Chhana

(d) Concentrated milk

87.

8B.

89,

90,

Consider the following statements

1. The Khoa prepared from cow milk
contains more percentage of lactose as
compared to that from buffalo milk.

2. The chhana prepared from cow milk

contains less percentage of protein as
compared to that from buf*... » milk.

Which of the statemens give ... hove ‘sfare
correct ?

{a) 1 only

(b} 2 only

(cy BothlandZ
{d) Neitk_. * nor 2

Hete nsis 1 the F, generation is equal (o :
@ Ty
(Lo Zdy
{c) Zdy
(d Zdy

Which one of the following is the normal
level of lactoferrin in bovine milk 7

(a) 0-2 mg/m!i
(b) 04 mg/ml
(¢} 06 mg/ml
{(d) 0-8 mg/ml!

The shelf life of butter increases if

{a) there is adequate and uniform
distribution of salt

{b) cream is ripened
{c) consistency and texture are improved

(d) there is excessive churning

(Contd.)
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83.

84,

LR

86.

Freriéiee § & FF W uE, gos &
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27

(a) ot 9ug
(b) FLH ITR
(€) T JTHY
(d) SAD TR

FeSe IV AR [T 19 e
AT 8 ?

(a) TR &7 TH
(b) ¥ = qm
(¢) =L T W
(d) %g i qH

& =ew Wl ' gw & el @ =
qRum g & 7

{a) @& @1 g fvgs s 3R wmEw
(by =& % Tt fvew ¥4 Ao el
(¢) =91 & &4 fes+ & =7 FF
(d) FE1 & FH MeST T T W\ e
TYIHY & aq G q DA
e e B

(a) WET-AFTTEN R

(by For-d=

(c} FFHR-TF. TR T

(dy - TR
Pk R - & ¥y O, siiers Fam F
Bumy B am R ga A @ ?
(a) ATHI

(b) W

(c) B

(d) wihaw g

e g
*

87.

88.

89,

90.

Breafaftm Fu=T aT B i

1. ¥ F 30§ R O W@y N g
T & gy O T g ¥ gEeE
1 e i 2R ¥

2. 4w d g oW ¥ A gEN A
D YR TH W e F IEH A
%1 AT €6 & |

Fde # ¥ T WoE e asd

(@) *adA 1

(by Paw 2

) 13 2 2=

(d FWMIITT T2

F]W A Ta. T I s FOEC Bl B 7
[f; p R ERY
Gy
(c) Tdy
(d &y

et ¥ 3 B o T, g 1 AR
F A WL E 7

{a) 0-2mg/ml

{h) 04 mg/ml

(e} 06 mg/ml

(d) 0-& mg/ml

AFET F eh-SET %8 Wl &, TR

(2) O w4 H walE AT wHEEAE HE
&

(b) #q F 9FET B T @

(¢) TRmT AT TE I &

(dy Fhw wFaa B

(Contd.)
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92.

93,

94

Baudouin test conducted to test the purity
of ghee, is used for the detection of
adulteration by which one of the following
oils 7

{a) Groundnut oil
(b Mustard vil
(¢} Cotton seed il

(d) Sesame oil

A ‘knobbed’ spermatozean defect
is associated with which part of
spermatozoa ?

{a) Tmi

(b} Mid piece
(¢} Neck

(d) Acrosome

Which one of the following is the most
commeon method for marking in pigs ?

(a) Body tattooing
{b) Ear notching
(c) Eartattooing
(d} Branding

Consider the following si- . men 5 :

1. Insemination of the ~ow should take
place during tk * period 1rom the middle
to the end ¥ ¢ trury, about 6 to 24
hours be-ve w..ation.

2. Spe wavzoa retain their fertilizing
€. MAC ty ar up to 4 to 6 days in mare.

Whach, of the statements giﬁen above is/are

0L,

(a)

(b) 2only

{c) Bothland?2

{d) MNeither 1 nor 2

. only

95.

96.

97.

)

Consider the following statements

1. Vitamin A deficiency mostly accurs
during the latter half of gestation and
1s characterized by abortion or by birth
of weak or dead calves.

2. Vitamin A requirements are higher for
female animals.

Which of the statements giv :n a ove 1s/are
correct 7

{a} ] only

(b} 2only

{c}) Both!and?2
(d) Neiae [ wor2

Cr . ~iger the following animals :
Mare

Z. Buffalo

3. Cow

What is the ascending order for the length
of gestation period of these animals 7

(a} 1-2-3
(b) 3-1-2
2-3-1

(dy 3-2-1

Which one of the following agents used in
semen extender protecis sperms from
dangers of freezing ?

(a)
(b
()
(d)

Sodium citrate
Glycerol
Sodium bicarbonata

Magnesium sulphate

(Contd.)
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97.

Prafufe et 9T e fif
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98.

9.

100.

Match List-I with List-II and select the
correct answer using the code given below
the lists :

List-f Lise-1f
(Animais} (Shapes af
placenta)
A. Primates I. Sphercidal
B, Canine 2. Cotytedonary
C. Ruminants 3. Diffuse
D. . Swine 4. Zonary
Coile :
A B C D
(ay 3 1 4 2
by 3 4 1 2
c) 4 1 2 3
d 4 2 1 3

“Value numbers’ are correction factors
used in the feed evaluation system
developed by

(a} Keliner
{(b) Armshy
(c) Mormson
{(d) Thaer

Consider the followin | tix 1 in_redients
1. Wheat grain

2. Whest strawn

3. Wheat brig

4. Cotic » see.. cake

Which oo of the following is the right
seq, Yenv. f the above feed ingredients on
w. b wis of their crude protein level (%)
. m lowest to highest 7

{a) 1-3-2-4
(b} 2-1-3-4
) 4-3-1-2
3-2-4-1

(d)

101

102.

103,

Consider the following acids :

1. Succinate

2, Isocitrate

3. Alpha ketoglutarate

4. Citrate

Which one of the following is the right
chronelogical sequence of the above acids
appearing in the tricarboxylir a1 ¢cycle ?
{a) 1-3-2-4

(b) 2-3-14

{c) 3-4-2-1

(dy 4-2-3-1

With reference 1o poultry management,
consid ¢ th. fohowing staternents :

W _ . . Rb .de [sland Red male bird is
moted t Barred Plymouth Rock

»u the female progeny will be Red.
2. all the male progeny will be barred,

Which of the statements given above isfare
cotrec| 7

{a) 1 only

(b) 2only

(c) Both1and?2
{d} Meither 1 nor 2

Consider the following stalements :

1.  Godavari breed of buffalocs have a
long calving interval as compared 10
Murrgh.

2. The body of Mehsana breed of
buffaloes is longer as compared to
Murrah.

Which of the slatements given above isfare
correct 7

{a) 1 only

() 2 only

(c) Bothland2
(d) Neither 1 nor2

{Conid.)
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AR AL ¥ gAfera S e g =

1 fag e g2 v wm wX w8l I AT
gl g1
&) (ITT P
Freiira)
A, TT-FET w0 1. A
(JreieH)
B. w@HE wNg 2. ey
C, 3. Refw
D. &% 4. Hugeim
FT
A B C D
) 3 1 4 2
M 3 4 1 2
¢y 4 1 2 3
f(dy 4 2 1 3
T weEny, W i emr

(by kst
(¢} TRET
(d) ¥

freiiee SR F9ed! 9T @1 TR
g, W wTT

I, 1 @t

g w AT

4, ﬁT‘ﬁﬁ S o

fri ™ ¥ ¥ 1 W @, ITgE AR
Ho < ® % Py | gsE O
3 U w VT T (%) F IR 9T TE AR
A

1.
2.
3.

W, 1-3-2-4
Yy 2-1-3-4
{c) 4-3-1-2
{d) 3-2-4-1

102.

103.

CTeTRTSI® AT = A T PR
37 .

(@ 1-3-244
(b) 2-3-1-4
(€) 34-2-1
() 4-2-3-1

FHge 70 3 o ® Preafaied s @
a0

W % TEATE 3T (@) AT vl woan
¢ e ) WEIEY UE § W O AR B,
ol

1. N oy gaict e sl |

2. 7T gt adert #it
IHE & ST /R A R 2E 7
(a) #a7 1

(b) e 2

() 13 2 AT

() TR 1IATTE2

Preafafag wo=t 72 e SR

1. e o el e 7 g A 9 e
# §d aoaa=A FFaOd ST B |

2. el Hei o ger § Fgor e W Al
T T 4 BT R

S § R} F w8 T ad 28 ?

{a) A 1

(b) Fa 2

{c) 13T 2 aF

(d AT 1ATTE2

{Contd.)




104. Consider the following :

105,

106.

107.

1. Malvi
2. Jafarabaddi
3. Bhadawiri

Which of the above are the breeds of buffalo
found in India ?

(a)
(b}
(c)
(d)

1 and 2 only
2 and 3 only
1 and 3 only
1,2 and 3

Tyzzers disease in foals 1s caused by :
(a) Clostridium piliformis

(b) Salmonella abortus equi

{c) Ehriichia equi

(d} Fseudomonas mailei

‘Post Parturient Haemoglobinuria® is a
commaon disease in buffaloes. Which one
of the following conditions is assoc atr .
with its causation 7

{a} Subnormal plasma ealei* lcs s

{b} Subnurmal plasma phy = a0 15 levels
{(c) Decreased supply f Vitamin D, infeed
(d) Copper toxicit,

Polio-ence = ymalacia in dJdomestic
Tuminar 's « > s due te the deficiency of :

(a)
(b) 13 tin

{c¢) Riboflavin
(d) Pyridoxine

TR

108.

109.

110.

N

112,

Which one of the following pairs is nor
cotractly matched ?

Poison/Drug Antidote
(a) Arsenic Dimercaprol
(b} Lead Calcium disedium edetate
(¢) Warfarin  Vitamin K
(d) Carbaryl Diacetylmonoxime

Which one of the followin~ -lass of
antibodies has shortest half Jif 2

(a) IgM
(b IlgG
(c} IgE
(@) Iga

Introns are ¢ :07.eri es of DNA that
(a) ar non-cul.ng,

(b} are ~xpr ssed as genes.

() e ate mRNA production.

{d) -.de for long sequences of amino
acids.

The High Temperature-Short Time (HTST}
method of milk pasteurization is based on a
temperature-time combination of :

{a) 70°C for )5 seconds
(b) 72°Cfor 15 seconds
(¢} 70°C for 15 minutes
(dy 72°C for 15 minutcs

Consider the following food borne
pathogens :

L. Listeria monocylogenes
2. Yersinio emterocofitica
3. Salmonella enteritidis

Which of the above are capable of growing
in chilled foods ?

(a) | and 2 oniy
(b} 1apd3only

(¢) 2and 3 only
(d) 1,2and3

{Contd.)
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113,

114,

115,

Consider the following statemnents :

Y. The carcass of hen contzins more
percentage of fat as compared to that
of duck.

2. The carcass of sheep containg more
percentage of meat as compared to pig.

Which of the statcments given above is/are
cortect ?

(@) 1cnly

(b} 2 only

{¢} Both!and2
(d) Neither ] nor 2

In tandem method of selection, the number
of traits ¢considered at a 1ime isfare :

(a) One

(t) Two

(c) Three

(d) More than three

Consider the following statements ;

The rate of change of gene frequeroy - a

population subject lo immigraticn ge enr s

on the :

1. Gene frequency amc 2 v = In miprants
only.

2. Gene frequen. v among the natives
only.

3. Immige tip,, * te¢and the difference of
gene = ency between immigrants
T M ives,

W ..~h ~f the statements given above is/are

TG

(a) 1only

(&) 2and3

(c) 3 only

(d) 1and3

116.

I

118§.

119,

126.

What is the maximum number of sheep/
goats allowed to be transported in railway
wagon having area of less than 21-0 m? ?

{a} 50
(b) 70
{c} 90
{dy 100

-

Surgical catgut (suture maig: " ) is | repared
from the :

(a)
(b)
(c)
(d}

Whith on of the following is the best
5¥5 M 1ur broiler production 7

i
(b)
(c)
(d)

Qesuphagus
Stomach
Intestine

Liga .

eep litter system
Slot system
Batiery system
Cage sysiem

The homeland of Amritmahal breed of
draught cattle is :

(a)
{b)
{¢)
{d)

Mysore
Nasik
Alwar
Rohtak

Sodium hicarbonate as adulterant in milk is
detected by :

(a)
(b}
(c)
(d}

Rosalic acid test
Telrazolivm test
Resazurin test

Bomer’s Phytasterol test

(Contd.}
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